dakropu3anus KyOU4ecKuX MHOTOUIEHOB

x3+2x2—x+6

42x° — 239%% — 720x — 448

X =47 +5c—6

[ara:

3x” + Ox

63x° — 439x° + 680x — 300

48x> + 158x% + 173x + 63

X + x> — 14x— 24

X+ 5¢ —9x+ 35
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Nwms:
2% — dx
2x(x — 2)
2
X —x
x(x—1)
Y+ —x+6

(x+3)x —x+2)

42x° — 239%% — 720x — 448
(7x + 8)(x — 8)(6x + 7)

X =4+ 55— 6
(x—3) —x+2)

[ara:

3x% + Ox
3x(x+ 3)

63x° — 439x° + 680x — 300
(9% — 10)(x — 5)(7x — 6)

48x> + 158x% + 173x + 63
(8x+ 9)(x+ 1)(6x+ 7)

4 ¥ — l4x— 24
(x+3)x+2)(x—4)

X+ 5x> —9x+ 35
(x+ 7)(x* — 2x+ 5)
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